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CALCULATING THE SLOPE

Calculate the slope from the pair of points

given.
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1)    (0,3)   (1,4)            Slope =   ______              

2)    (2, -6)   (5, 0)         Slope =   ______              

3)    (-2, -6)   (6, -4)       Slope =   ______              

4)    (2, 4)   (0, 4)         Slope =   ______              

6)    (-5,1)   (5, -5)         Slope =   ______              

7)    (-6, 2)   (2, -6)         Slope =   ______              

8)    (7, 1)   (1, -2)         Slope =   ______              

9)    (0, 3)   (1, -4)         Slope =   ______              

10)    (-2, -4)   (1, -6)       Slope =   ______            5)    (-3, 5)   (0, 4)         Slope =   ______              


